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Bugyals are-

Choose the most appropriate answer from the
options given below:

(A) Dry forested areas in Kumaun

(B) Dry forested areas in Kashmir

(C) Vast meadows in high mountains

(D) Snow covered mountain peaks

(E)  Question not attempted

T E -

frfeRad foskedt @ & @atiere Iug ST
(A)  ETS T IR o &

(B) I H Y75k o &

(C) oo ydial o foreqd wmget &

(D) 9% ATeBIEd dd @R

(E) 3Tl o1

Maru Raikas are the pastoral groups of Raikas
who are-

Choose the most appropriate answer from the
options given below:

(A) Camel herders (B)
(C) Goat herders (D)
(E)  Question not attempted

T TRIRT U] ST 6T STTRT 34 T2IohT 68 € & ST
frfaRad foskedl # & @aiiere 3ug St I+:
(A) S HI I

(B) el sl qreid &

(C) ST o ITeid &

(D) HaTIRI sl qTerd @

(E) 3Tl o1

Gaddi shepherds belong to-

Choose the most appropriate answer from the

Sheep herders
Cattle herders

options given below:

(A) Uttarakhand  (B)
(C) Rajasthan (D)
(E)  Question not attempted

TE Tl (VFE) Gy TEd &-

frfafead faeredt 4 & @aifaes 3ag® ST IA:
(A) TGS (B) Teu=a yem
(C) TEINH (D) UERATZH

(E) Srfaiayy

Himachal Pradesh
Maharashtra
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Ifa:b=2:3, then whatis (a + b) : 3a—b)?
A q:b=2:3, A (a+b): (3a—b)FTR?
(A) 3:5 B) 2:5

< 5:3 (D) 5:2

(E)  Question not attempted / ﬂiﬂﬁﬁ 99

The sum of three numbers is 196. If the ratio of
the first number to the second number is 2 : 3 and
that of the second number to the third number is
5 . 8, then the first number is:

W denl 1A 196 21 Al weed N gwd
HETSY hT ST 2 : 3 2 T ot 7R efrerdt s
T AW 5 : 8 7, A Tl 6 &

(A) 60 (B) 80

(C) 40 (D) 120

(E)  Question not attempted / 31@?!'?{?[ BE

The ratio of the average of two numbers to one of
the numbers is 2 : 3. What is the ratio of the larger
number to the smaller number?

2l HEATSAT o 37T ST I § Teh AT I AT
2 : 3 2| St WA I DI AT T ST T 82
(A) 4:1 B) 5:1

<© 2:1 D) 3:1

(E)  Question not attempted / 31@?1']3{?[ T

Ifa:6=56:7=c:8, then what is the value of
2a+3b—c 9

bte - 2a+3b
e a:6=b:7=c:8 a1 <L=—C HqN

b+te
FTR?

(A) (B)

(S E N N[
I»— W]
—

(©) D 13
(E)  Question not attempted / 313?!'?(?[ BE)

What is the least number which when divided by
12, 15, 18 and 20 leaves a remainder 3 in each

case?

o B @em 7 ' S 12,15,18 R 20 ¥
forrfora e o ydes feafa & 91w 3 ST 22
A 177 (B) 186
(C) 267 (D) 183
(E)  Question not attempted / 31@?\"&?[ BE
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What is the least number which when decreased
by 4 is exactly divisible by 10, 12, 14 and 18?
T et BIET HEAT 7 @ S § 4 7 W AT 10,
12, 14 7T 18 & gt forrfora & et 292

(A) 1256
(B) 1264
(C) 1252
(D) 1260
(E)  Question not attempted / ?ﬂ@?lﬁ?f Iq

What is the greatest number which divides 149,
248 and 623 leaving remainders 5, 8 and 11

respectively?

U e St w 4 7, TS| 149, 248 T1 623
2T fraTiora ot T SRAST: 5, 8 37 11 919 SreraT 82
(A) 20

B) 9

(©) 12

(D) 15

(E)  Question not attempted / 33!'@'&?{ 99

Which of the following is the pastoral community
of Rajasthan?

Choose the most appropriate answer from the
options given below:

(A)
(B)
©
(D)
(E)
frfcaRad & & HI7-9T TSEI T IR0 T
22

Friferfia fashed & warifires 3uge 0 3.
(A) TSR SERETT

(B) TE TSR

(C©) TR

(D) X

(E) a9

Gujjar Bakarwal
Gaddi Shepherd
Raikas
Dhangars

Question not attempted
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Match List-I with List-IIL.

List-I List-1T

(Shepherd (Belongs to)
community)

a. Raikas 1. Jammu and Kashmir
b. Dhangars II. Rajasthan

c. Gaddi Shepherds III. Maharashtra
d. Gujjar Bakarwal IV. Himachal Pradesh

-1 o @Ter -1 7 fire it

i1 EI-11

(et aem) GEIBER)

a. TIH I ST 3R
b. ETR I TSI

c. TR III. HERTE

d. TSR SRETS IV. ferreet yewr

Choose the most appropriate answer from the
options given below:

il fow T forehedil & @ waffaes suges s T4
(A)
(B)
©)
D)
B

a-1V,b-Ill,c-1I,d -1
a-ILb-Ml,c-1V,d-1
a-Lb-MLc-IV,d-1I
a-MLb-M,c-TV,d-1
Question not attempted / 31@?!‘?(?[ Iq

In India the Wild Life Protection Act was

implemented in-

IR H SIS STUT ST AT R T T -
Choose the most appropriate answer from the
options given below:

frfafad fasredt 7 @ waffae 3agw® SR TH:
(A) (B)
©) (D)
(E)  Question not attempted / 31@?!'&?[ BES

1968 1970

1972 1976
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Which of the following is not the indigenous
milch breed of cattle?

Choose the most appropriate answer from the
options given below:

(A) Jersey (B) Red Sindhi

(C) Tharparkar (D) Sahiwal

(E)  Question not attempted

freaferfiaa & & 1 €t qu o dTet ] bt <wiel T
TE 82

Tt fospedt 4 & wafferes 3ug ST
(A) T (B) e faeft

(C) YIRIRERT (D) Wl

(E) 3Tl o1

The Foot and Mouth disease of cattle is a-
Choose the most appropriate answer from the
options given below:

(A) Viral disease

(B) Bacterial disease

(C) Fungal disease

(D) Plasmodial disease

(E)  Question not attempted

RIS T GRIHT-HETHT T 2-

frfeRaa fospedt 4 & @afiere 3ug ST I
(A) fowmrst@am (B) - Sfamor i@ T
(C) FAFIAEAUT (D) TATSHITSTHT T
(E) i@ yy

In Rajasthan a special economic zone for Gems
and Jewellery has been established at:

Choose the most appropriate answer from the
options given below:

(A) Boranada - Jodhpur

(B) Sitapur - Jodhpur

(C) Bhiwadi - Alwar

(D) Debari - Udaipur

(E)  Question not attempted

ST | T T STV o TeTT T foiy HATfeh
&1 TTIUT el fohaT TIT 82

frfafead faeredt @ & @aifas 3ag® ST IA:
(A) SRS - SR (B)  HIATY - STE

(C) PERr-s@@ (D) IR - IR

(E) i@ yy

ABC-A13] [m]
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Which of the following states does NOT share its
border with Rajasthan?

Choose the most appropriate answer from the
options given below:

(A) Gujarat (B) Maharashtra

(C) Madhya Pradesh (D) Punjab

(E)  Question not attempted

frefafad § & F-81 T5T TSR & 919 37
T TTET T hLaT 82

frfeiaa fosredt 7 @ waifars 3uges o I1:
(A) TS (B) WaRTSE

(C) WY (D) U

(E) rgaid o

What is the single discount equivalent to
successive discounts of 25%, 20% and 15%?
SHTHE ST 25%, 20% S 15% % THded Thd ol
T 82

(A)  60% (B) 51%

©) 49% (D) 42%

(E) Question not attempted / agﬂﬁ‘cr BE)

On selling an article at a discount of 28% on its
marked price, the shopkeeper still earns a profit
of 20%. Had he sold the article at the marked
price, his profit percentage would have been:
foreft o b ifeRd oI W 28% o % WY e T
ot GHFER 20% AT 3Ffofe HedT 81 AT T g b
SHfoRd AT T SIIAT 1 38k AW ST FiaRrd fohaet
B

(A) 66%%

B) 40%

©) 58%

(D) 33 %%

(E)  Question not attempted / agﬁﬁ—cr Iq
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If the price of petrol increases by 20%, by what
percentage should the consumption of petrol be
reduced so that there is no change in the expenses
on petrol?

UZIA T g 20% ¢ ST 2| Iheh TN & foha
sifererar sht shHt <t ST, S Uge W B ATl S
I & @2

(A)  25% (B) 20%
© 163% D) 13%%
(E)  Question not attempted / ﬂ@ﬂﬁﬁ Iq

The average weight of a class of 33 students is
35 kg. If the weight of the class teacher and the
principal be included, then the average weight
increases by 1 kg. What is the average weight

(in kg) of the class teacher and the principal?

Teh helT o 33 formnfefat s sftea o=t 35 frum 1
Ife hefTeTgeh 3N TUHTER o o i+t sie fear
ST ot 37 o 1 fohuT 1 SITdT 21 shefreanges 37T

T ST 3 s (fora o) feraar 22
(A) 52 (B) 5025
(€) 525 (D) 59.7

(E)  Question not attempted / ﬂa?lﬁﬁ Iq

Which one of the following national parks/
sanctuaries is famous for conservation of fossils
in Rajasthan?

Choose the most appropriate answer from the
options given below:

(A) National Desert Park, Jaisalmer

(B) Keoladev National Park

(C) Ranthambore National Park

(D) Sariska Wildlife Sanctuary

(E)  Question not attempted

7 7 o - T U/ USEH
et o wer o fore wftg 22

frfafaa faeredt § & @aifae Iug® 3T IA:
(A) TSI HEEdS M, SHeTHT

(B)  hadIRd TSR 3

(C) TP g Ser

(D) WG IS ST

(E) i@ yy
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The Bhakhra Nangal Project is a joint venture of:
Choose the most appropriate answer from the
options given below:

(A) Punjab, Haryana & Himachal Pradesh

(B) Rajasthan, Haryana & Himachal Pradesh
(C) Punjab, Haryana & Rajasthan

(D) Punjab & Haryana

(E)  Question not attempted

TIEST Tt TRETSHT 1 Teh Y 3 2
frfaiad fosredt # @ waifae 3ugw u 91:
(A) ST, B iR ferree eur

(B) T, i@ iR fEnmeret weur

(C) uSTT, BT 7R e

(D) USTTE 37K g

(E) rgaid 9

‘Chaar Baint’
presentation of which region of Rajasthan?

is the famous folk drama/

Choose the most appropriate answer from the
options given below:

(A) Kota (B)
(C)  Tonk (D)
(E)  Question not attempted

IR J@ oA & fmg @87 &1 yfag A

Dausa

Jaisalmer

frfeiad foshedt 7 & @aifae 3ugw Iut 91:
(A) I (B)

(C) o (D) ST

(E) rgaid o

Name the oldest fort situated on the banks of
river Ghaggar:
Choose the most appropriate answer from the
options given below:
(A) Bhatner fort (B) Amer Fort
(C) Jaigarh Fort (D) Nahargarh Fort
(E)  Question not attempted
T 7t 3 A T Rera i fehet si-ar 29
frefeTRad fospedt o & aafiere Iag ST
(A) e fepett (B) AT feetT
(©) SEfhem (D) TECTE fohelt
(E) raid
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Brahma Temple is located in which place of
Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Jaipur (B) Pushkar

(C) Alwar (D) Banswara

(E)  Question not attempted

STRIT Hfeax TSTeerT o forer &t 3 feora &2
frefeiaa fospedt 4 & wafferes 3ug ST
(A) SR (B) T

(C) X (D) &St

(E) 3Tl o=

The highest percentage of fat is found in which
animal product?
Choose the most appropriate answer from the

options given below:

(A) Cow milk (B) Meat

(C) Fish (D) Egg

(E)  Question not attempted

forer sy Seure & @ ot e wafen S 82
frfafead faeredt 4 & @aifaes 39g® ST IA:
(A) TEHGY (B) =MW

(C) w3t (D) 3eT

(E) a9

In which of the following animal products, the
minimum percentage of protein is found?
Choose the most appropriate answer from the
options given below:

(A) Cow milk (B) Egg

(C) Fish (D) Meat

(E)  Question not attempted

frfafad & & fore STq 30918 W& 1 Jhera

=IATH BT &7

frfeiaa fospedt 4 & waffere 3ug ST
(A) TEH Y (B) 3er

(C) Wt (D) #iE

(E) 3Tl o=
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The system of farming where crop production
and raising of livestock etc. are done on the same
farm is called as-

Choose the most appropriate answer from the
options given below:

(A) Organic farming

(B) Mixed farming

(C) Mixed cropping

(D)  Crop rotation

(E)  Question not attempted

BT (FITHT) T I8 T e et SeaTed ST a]
ITe 3TfE Uk & T (%) # R ST ¥, e
2-

et frshet § & wratfore 379w S
A) e gt B) fufda et

(C) fBmwas (D) wod I

(E) rgaid 9

The salary of Sidhant decreased by 16% in one
year due to recession and in the next year it
increased by 25%. The net percentage change in
the salary of Sidhant is:
(A) 5% Increase  (B)
(C) 7% Increase (D)
(E)  Question not attempted

HaT o 0T T a9 H HEId &1 AaT 16% =2 T
HR T a9 25% w¢ T fHgia & 9a7 ° =
frera uftada &

(A) 5%3fE (B)
©) 7%dfE (D)
(E) Agdia s

7% Decrease

9% Increase

7 % AT
9 % 3fg

If the difference between 71% and 62% of a
number is 81, what is 25% of the number?
Toreft T o 71% 3 62% ¥ 3 81 7 36 He&A
3T 25% FT &7

(A) 225 (B) 250
(C) 275 (D) 325
(E)  Question not attempted / 3174 )

[ Contd...
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When 111 is subtracted from a number, it reduces
to 63% of itself. Then 20% of the number is:
foreT EEm A & 111 e W a8 &3 i 63% T8 STl
1 39 HEAT H 20% -

(A) 126 (B) 555

(©) 60 (D) 42

(E)  Question not attempted / ﬂﬂﬁﬁ Iq

Which soil found in the western part of Rajasthan
is less fertile?

Choose the most appropriate answer from the
options given below:

(A) Laterite Soil  (B)
(C) Desert Soil (D)

Alluvial Soil

Black Soil

(E)  Question not attempted

TS o afEet Wit § ureft S areft she-Et qar
T IJUSITS &Il B2

freafafaa fosredt & & @aifas sug® s T4
(A) WTEHT  (B) SlGHA

(C) WA (D) el HaT

(E) Jaid 9%

Due to the high utility of this tree in the Thar
Desert of Rajasthan, it is called as the
‘Kalpvriksha’ of the desert.

Identify the tree from given below options.

(A) Khair (B) Khejri

(C) Thor (D) Babool

(E)  Question not attempted

TSTEAM o IR HEEIS | 3Tcafyes 3uanfl 819 &
U] T J&T I TEEIS T “HIIE” Hal Tl 2l

3 et & & a1 Y Teaw i
(A) W (B) W
(€) ¥R (D) ¥
(E) Srgaiaug
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In summer, hot dry and dusty winds which blow
in Rajasthan are known as:

Choose the most appropriate answer from the
options given below:

(A) Loo (B)
(C) Norwester (D)

Chinook

Fohn

(E)  Question not attempted

TSTET 4 TS 5] H e ATt 37 T T et Wit

frfaiaa fosredt 7 @ @aifae 3ugw ut 91:
A 9 B) T

(C) FEEX (D) ®F

(E) rgaid o

The advantages of the cage system of rearing

poultry birds are-

a. Rearing of larger number of birds
b. Production of clean eggs

€ Control of parasitic disease

d. Ensuring proper ventilation

Choose the most appropriate answer from the
options given below:

(A) (a), (b) and (c) only

(B) (b), (c) and (d) only

(C) (b)and (d) only

(D) (a), (c) and (d) only

(E)  Question not attempted
e Tt ) R (st Rrees & wrery 35 e 3-
a.  3Afeh §EAT § ufert s e

b. TS IET HI I

c. ULt U T T

d.  ITIH AT h gifErar

= faw o forepedt & & waffare Suges ST
(A) %3 (a), (b) 3T ()

(B) & (b), (¢) M (d)

(C)  Fa (b) R (d)

(D) %9 (a), (¢) M (d)

(E) It g
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Milk fever is usually observed in cows and
buffaloes around calving time and is characterized
by-

Choose the most appropriate answer from the
options given below:

(A) Reduced blood potassium level

(B) Increased blood calcium level

(C) Increased blood potassium level

(D) Reduced blood calcium level

(E)  Question not attempted

T 3R S8 IS & G (FHifedT 2T8H) BN
1ot fireen Hre & 1e1or &-

Freferfia frhedt & & wratfire 37w SaU
(A) T T U T T =T

(B) Th H hfcwra Ta¥ ol oG
(C) T T W & T 5T
(D) Th | hfcw= Tl i g1
(E) rgaid 9

Mareks disease is a common disease of-

Choose the most appropriate answer from the
options given below:

(A) Cattle

(B) Poultry

(C) Fish

(D) Honey bee

(E)  Question not attempted

HiYeh T Teh GTHTT T 2 -

frfafaa faeredt § & @aifae Iug® 3T IA:
(A) WRISTH

(B) PP A

(C) HSAT T

(D)  Heweg!

(E) Srfaiayy
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The phenomenon in which in an image formed by
the mirror, the left of the object appears on the
right and the right appears on the left is called-
Choose the most appropriate answer from the
options given below:

(A) Diffused reflection

(B) Regular reflection

(C) Lateral reflection

(D) Total internal reflection

(E)  Question not attempted
 fteren fsre guor gr o widfowar o a%q

FHEATAT & -

frfafad fasredt 7 @ watfae 3agw® IR T
A) Toafa (@fafi) weds

B) fafig wedT

(C)  uTd qaEd

(D)  9oT ATt TaE

(E) rgaid 9

When an object is placed in front of a mirror the
image formed by the mirror is erect, of the same
size as that of the object and is at the same
distance from the mirror as the object is in front
of it, the mirror is-

Choose the most appropriate answer from the
options given below:

(A) Plane mirror (B) Convex mirror
(C) Concave mirror (D) Parabolic mirror

(E)  Question not attempted

T I I U1 o WA T@T T 8] F90r N S
sifciferar €T, 36 ] o TR 3 THI ST U0 &
3T &1 g T ST & TS o o A o ) 7
U &-

frfafiaa fosredt § @ waifass 3ug® S

(A) dWaagywr  (B) SO guu
(C) JfFqacdo (D) Waddeh guur
(E) raid 9
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A convex mirror is also called as

Choose the most appropriate answer from the
options given below:

(A) Divergent mirror

(B) Convergent mirror

(C) Plane mirror

(D) Parabolic mirror

(E)  Question not attempted

I EUUT T ot Fed 2
frfeiad fospedt 4 & aaffere 3ug® ST
(A) JHERIHU  (B) AR gdur
(C) WHAAZU (D) WA 9
(E) 3Tl o=

Name the scientist who proposed the Laws of
Inheritance.

Choose the most appropriate answer from the
options given below:

(A) Gregor Mendel

(B) T.H. Morgan

(C) Hargovind Khurana

(D) Newton

(E)  Question not attempted

SRl ok 12T o 3 aTet AFTTeh ot 19 Fard|
frfafead faeredl # @ waifaes 39g® 3T :
(A) WRTEA (B) 3. u=. 6T

(C) =M= EE (D) A

(E) 3rgaid 94

Curd is formed by the microbial action of which
bacterium?

Choose the most appropriate answer from the
options given below:

(A) Lactobacillus sp.

(B)  Streptococcus sp.

(C)  Salmonella sp.

(D) Mycobacterium sp.

(E)  Question not attempted

T2 fore AV i gemsiat foram & aar 22
frfeiad fospedt 4 & wafiere 3ug ST
(A) cRIdHiTa Tt (B) TEIHEHT T,

(C) TregHen T, (D) JEHaFIET o,
(E) 3Tl o=
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On which of the following parameters the
crossbreeding  programmes  for  variety
improvement in poultry are focused on?

a. Number and quality of chicks.

b. Tolerance to high temperature.
c. High maintenance requirement.
d. Increase in the size of egg laying birds.

Choose the most appropriate answer from the
options given below:

(A) (a)and (c) only

(B) (b)and (d) only

(C) (a)and (b) only

(D) (a), (b) and (d) only

(E)  Question not attempted

FAFE U T U & QR IS HRIRH
forrertiaa 9 e et o Hfesa &

a. S ohT WA SR IUTE

b. 39 AYYM o Ufd He3iietar

c. 39 @IS hi ATITIHAT]

d.  SieT Y aTeruftRit & SR i afal
frffiad faeredt 3 & waifires Suge 3o TH:
(A) 9 (a) 3 (c)

(B)  haet (b) 3R (d)

(C)  hael (a) 3T (b)

(D) hae (a), (b) 3R (d)

(E) Agaia s
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Some of the major National parks and sanctuaries

of Rajasthan are-

a. Sitamata Sanctuary
b. Keoladeo National Park
c. Ranthambore National Park

d. Dudhwa National Park
Choose the most appropriate answer from the

options given below:

(A) (a), (b) and (c) only

(B) (b), (c) and (d) only

(C) (b)and (c) only

(D) (a), (b) and (d) only

(E)  Question not attempted

TSTE o % HEd U 3T 3 3TN0 & -
a. WA IR0

b.  FaARd T U

c. ORI U ST

d. AU SEeE

et faw T forshedt 7 @ warifaes 3uge SR I4:
(A) e (a), (b) 3 (c)

(B) ad (b), (c) I (d)

(C) e (b) 3 (0)

(D) hae (a), (b) 3R (d)

(E) rgaid o=

The longest part of an alimentary canal in human
beings is the:
Choose the most appropriate answer from the

options given below:

(A) Stomach

(B) Oesophagus

(C) Small intestine

(D) Large intestine

(E)  Question not attempted

TS H HTER AT T FoId T 91T &
frfafaa faeredt # & @aifas Iag® ST IA:
(A) JHERET

(B) UTEAT

(C) VI

(D) =t it

(E) 3Tl o=

ABC-A13] [m]
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The gland that secretes hormones as well as
enzyme in the human body and controls blood
sugar level is the:

Choose the most appropriate answer from the
options given below:

(A) Liver (B) Salivary gland
(C) Adrenal gland (D) Pancreas
(E)  Question not attempted

BT ST AT o YRR H €W o AT TEH A
T AT & ST I o ET T (R et 8, 9%
2.

frfrfaa forsred 3 & wraifers sy o
(A) 7% (f)

(B) Tifer

(C)  ATereeh (TivTet) Tfer
(D)
(E)

Match List-I with List-I1.

List-1 List-11

a. The special movement I.  Peristalsis
of the muscles of
oesophagus

b. The first and the
smallest part of the
small intestine

c. The terminal end of
the alimentary canal

II. Buccal cavity

III. Duodenum

d. The part of the IV. Rectum
alimentary canal in
which the mouth
opens

G=fi-1 o | -1 o1 foret it

TET-1 Tet-11

a. Ul I HEURET L ST
EIRENMLRIIE

b. BAAFFUEA I 1. T@TET
I BIeT AT

c. TSR AT T Sl RRT 111 T=oft
d. SERATA HI - ARSI V. HARH
TE & A1G AT &
Choose the most appropriate answer from the
options given below:

et fow T fereredt o & wiferer W ST IH:

(A) a-ILb-Lc-I,d-1V
B) a-Lb-Ilc-IV,d-1I
(C) a-Lb-1V,c-1I,d-1II
(D) a-IlLb-IV,c-1I,d-1
(E)  Question not attempted / agﬁﬁ—cr Iq
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Which of the following songs is sung by men
during Holi?
Choose the most appropriate answer from the

options given below:

(A) Rasia (B) Mayara

(C) Badhava (D) Toran

(E)  Question not attempted

et T gEST gR - T M ST 2
frfafead faeredt 4 & @aifas 3ag® ST I:
A) T (B) WM

(C) wemaT (D) RO

(E) 3Tl o=

Which dance is performed in the temple of Kaila
Devi?
Choose the most appropriate answer from the

options given below:

(A) Languriya Dance

(B) Dhol Dance

(C) Fire Dance

(D) Dandiya Dance

(E)  Question not attempted

ST et HfeT & -8 Jer foham ST 22
frfaRad foskedt # & @aifere 3ugw Sat I+:
(A) @fETE (B) dEIA

(©) @faTeT (D) sifear e

(E) 3Tl o1

What dance is performed in the sitting posture?
Choose the most appropriate answer from the

options given below:

(A) Bhawai Dance

(B) Terahtali Dance

(C) Bamrasia Dance

(D) Gavri Dance

(E)  Question not attempted

|1 T ISt 8S T H forarm ST 82
frfafead faeredt 4 & waifas 3ag® ST IA:
(A) WS e (B) gl JeI

(©) R (D) TEIE

(E) 3Tl o=

ABC-A13] [m]
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Which of the following is not a chemical change?
Choose the most appropriate answer from the

options given below:

(A) Fermentation of grapes

(B) Digestion of food

(C) Melting of iceberg

(D) Ripening of fruits

(E)  Question not attempted

fafafed & & iH-a1 Tamfie aiedT 724t 22
oo frhedt § & wratfires 379w S
(A) T e fopvem

(B) IS T U

(C) Temsia (msw =) &1 fUererr

(D) WAl T GehAT

(E) g gy

If we cut an apple and leave it in a plate for some
time, it turns reddish-brown in colour. This is due
to the formation of

Choose the most appropriate answer from the

options given below:

(A) Iron oxide

(B) Zinc oxide

(C) Magnesium oxide

(D) Calcium oxide

(E)  Question not attempted

TS B T el i FHIEH FS T o [ i H BIS
A, AR SATA- LT T &Y STl 21 T

o S o SHRVT I &

frfafad fasreat # @ waifas 3agw SR T
(A) ST STFTES

(B) oo itrTsS

(C) AifIrm TS

(D) Ffeway HAeEs

(E) Agaia s
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54  Which of the following" will float on water? 56  Which one of the following is not a Sufi Saint?
a.  Alr ﬁll.ed balloon b. SOdluITl Choose the most appropriate answer from the
c.  Potassium d.  Goldring
e.  Steel spoon options given below:
Choose the most appropriate answer from the (A) Baba Farid
options given below: . _ _ o
(A) (o), (d) and (e) only (B) Khwaja Moinuddin Chishti
(B) (b), (c) and (d) only (C) Dadu Dayal

(C) (a), (b) and (c) only

(D) (a)and (d) only (D)  Amir Khusro

(E) Questi‘on not atternptgd ‘ (E)  Question not attempted

freteTiaa # & -6t e STet o R et &2 S S .

a. TAEWATEN b, wHifeaw s .
c. uRfREm d. AW SR frfaiaa fosredt 7 @ @aifaed 3ugw u 91:
e. &I T IEIH _—

et fow 7T forhedt # & walferes Iug SO I (&)

(A)  *ad (c), (d) 3R (e) (B) TSI eI foreelt

(B) E(b)’ <c)§(d> ©) =R

©) (a), (b) 3R (c)

(D) e (a) 3 (d) (D) T ge

(E) Srgaiaug (E) 3Faia u

55 Select the incorrect statements about the
properties of non-metals.

2. Non-metals are found in all three states of | 37  The life history of the saints (which is) available
matter. in poetry form in Rajasthan is known as

b. Except diamond all non-metals are ductile.

c Graphite is the hardest non-metal Choose the most appropriate answer from the

d.  Bromine is a liquid non-metal. options given below:

e. Iodine is a lustrous non-metal.

A) Jh 1
Choose the most appropriate answer from the (A) amaa

options given below: (B) Vachnika
(A) (d)and (e)only (B) (a),(b)and (d)only

(C) Jhoolna
(C) (b)and(c)only (D) (a),(b)and (e) only
(E)  Question not attemptefi ’ (D) Parchi
aa@aﬁaﬁrﬁ RISATSAT oh ST H SFEIcar shert b =1t (E)  Question not attempted
it - . .
a. ST FeT B AT ST & v el 8 Hall T S SfqEr S A w9 F qer §
b. ﬁﬁm%mﬁﬁl IYTeY B, & AT & ST ST 2l
c. I g< 3?%11@ | .~ s
d. I Tk 59 37 2 Feaferfa fachent & & Fatfere: ST STCg:
e. IS U IHHIC 74T 2 (A) FHS
et foq T forehed # @ wraifares 3ug S I: S
(A)  oaet (d) 3T (e) ®)
(B) = (a), (b) 3 (d) ©) g
(C) eIt (b) 3T () (D)
(D) Fae (a), (b) ()
(E) STaf@ys (B)  rIaRa s
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Which of the following are exotic milch breeds of
cows?

a. Red Sindhi b. Jersey

c. Tharparkar d. Brown Swiss

e. Holstein-Friesian

Choose the most appropriate answer from the
options given below:

(A) (a), (b) and (c) only

(B) (b), (d) and (e) only

(C) (b), (c) and (d) only

(D) (d) and (e) only

(E)  Question not attempted

freaferfaa & & wi-et gar & areft T Ay foeeft
a. are feet b. St

c.  YUNUREH d. s fEw
e.  BICHIM-IBIEEE
e fe e fereredt # @ wrarfferes 3ugw St I

(A) e (a), (b) 3 (c)
(B) e (b), (d) 3T (e)
(C) e (b), (c) 3R (d)
(D) et (d) 3 (e)
(E) SIfaiayy

Penicillin was discovered by

Choose the most appropriate answer from the
options given below:

(A) Edward Jenner

(B) Louis Pasteur

(C) Alexander Fleming

(D) Robert Koch

(E)  Question not attempted

uffaferT s snfashr o T foma T
ol
frfeiad fospedt § & wafieres 3ug ST

(A) TEIE AW (B) % Wa
(C) TSI FAMET (D) T i
(E) Srgaiaug
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The first woman president of the Indian Olympic
Association is:

Choose the most appropriate answer from the
options given below:

(A)  Smriti Irani (B) Sudha Murti

(C) P.T.Usha (D) P.V.Sandhu

(E)  Question not attempted

TR SIcifieh T T T2 Higer oTeae i 82
frfafad fosreat # @ watfae sagw® SR T
) sffE B garei

(C) UL e (D) It &y

(E) rgaid 9

In Rajasthan Haansli is worn in which part of the
body?

Choose the most appropriate answer from the
options given below:

(A) Head (B) Neck

(C) Ear (D) Hands

(E)  Question not attempted

TS § IR 3 -8 91T § Sieel] g1 STt 82

Trfaiad fosredt 7 @ @aifae 3ugw o 91:
(a) (B) TR

(€) = D) =T

(E) 3Tt w1

Who presented the first scientific classification of
Rajasthan painting?

Choose the most appropriate answer from the
options given below:

(A) Vijay Kumar

(B) W.H. Brown

(C) Ananda Kentish Coomaraswamy

(D) Rai Krishna Das

(E)  Question not attempted

TS foeRatt &1 yew e affertr foReeh
ERU S ERERIRIRIRIY

frfaiaa fosredt 7 @ @aifas 3ugw ot 91:
(A) oS FHAR

(B) S, T SIST

(C) = HiexT FHRETHT

(D) TIRWTTE

(E) raid
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In which city is the Haveli of the Bachhawats
situated?
Choose the most appropriate answer from the

options given below:

(A) Bikaner (B) Chittorgarh
(C) Siwana (D) Jaipur

(E)  Question not attempted

TSI hT Tt -8 et & feord 22
frfafead faeredt 4 & @aifas 3ag® ST I:
(A) iR B) furieTe

(C) T (D) SAT

(E) 3Tl o=

Which of the following is not a part of the human
respiratory system?

Choose the most appropriate answer from the
options given below:

(A) Bronchi (B) Alveoli

(C) Medulla (D) Larynx

(E)  Question not attempted
freferfiaa § & S H-81 HTa F8 o 1 907 T 22
frfafeaa faeredt o @ waifaes 39g® STCEA:
(A) e (B)  HfteHTC (cferaireth)
(©) e (D) 3 (i)

(E) SIfaiays

During exhalation, the ribs-

Choose the most appropriate answer from the
options given below:

(A) Move up and outwards

(B) Move down and outwords

(C) Move up and inwards

(D) Move down and inwards

(E)  Question not attempted

TSI o I Y@ ferdi-

frfafaa faeredt # & @aifas Iag® ST IA:
(A) U TR TR HT TR AT el &

(B) = ST SITeT Al AT et et 2

(C) T I e hl 3T T1fe hielt 2

(D) fer 37T 37T T ST i el 8

(E) 3Tl o=

ABC-A13] [m]
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The Meja Dam has been built on which of the
following rivers in Rajasthan?

Choose the most appropriate answer from the
options given below:

(A) Luni River (B) Mahi River

(C) Som River (D) Kothari River

(E)  Question not attempted

TSR 3T fordt T oX AT St I I 22
frfafad fosreat # @ watfae sagw® SR T
(A) T (B) W& 4T

(C) wm (D) IS TET

(E) rgaid 9

The respiratory organs in fish are:
Choose the most appropriate answer from the

options given below:

(A) Spiracles (B) Lungs

(C) Gills (D) Fins

(E)  Question not attempted

el § g 3 8

frfafad foshedt # @ waifae 3agw S0 T
(A) ey (B) %He

€ FH (e (D) W@ ()
(E) 3Agdita o4

The “One District One Product Scheme” falls

under which ministry in Rajasthan?

Choose the most appropriate answer from the

options given below:

(A) Ministry of Finance

(B) Ministry of Social Justice and
Empowerment

(C) Minister of Textiles

(D) Ministry of Commerce and Industry

(E)  Question not attempted

“Th TSET Ueh 3cuTq ST TSI | fohg omerr

o STt STl 22

frfaiaa fosredt 7 @ @aifas 3ugw ot 91:

INEREEEEISE)

(B) WIS =TT TS ATerhTiET HaAler

(C) ST HATHT

(D) aforsT TE ST WA

(E) raid
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69  Which of the following schemes provide health
insurance coverage to the entire population of
Rajasthan?

Choose the most appropriate answer from the

options given below:

(A) Mukhyamantri Nishulk Nirogi Rajasthan
Yojana

(B) Mukhyamantri Nishulk Dava Yojana

(C) Mukhyamantri Nishulk Janch Yojana

(D) Mukhyamantri  Chiranjeevi Swasthya
Bima Yojana

(E)  Question not attempted

frfafga & & FF-H AeAT TSEIE A wE
STEITET ShT TATEL STHT ShaldsT UG el 82
frfafaa faeredt 4 & waifaes 3ag® 3T I:
(A)  TEwt fRreeh Tt Tsreer ST

(B) AT f3Tesh Za AT

(C) wewsit fsyesh Site FiemT

(D) TeawHT feriselt T sftaT arsrT

(E) 3Tl o1

70  In Rajasthan under the Mukhyamantri Nishulk
Bijli Yojana (Domestic Subsidy) free electricity
(Zero bills) is provided to consumers whose
electricity consumption is units per
month.
Choose the most appropriate answer from the
options given below:
(A) 100 Units (B) 150 Units
(C) 200 Units (D) 250 Units
(E)  Question not attempted

TSTE # “Hewall FRIee forstetl AT (e

Hfsuel) % Ted 31 ITWIRRIAT hl G forsrell (I

foret) war it STt & Foreht @aa e
SiHTe 2
frfafad faeredt 4 & @aifaes 3ag® ST IA:

(A) 100 FFE (B) 1503Fe
(C) 2003 (D) 2507FE
(E) Srgaiaug

ABC-A13] [m]
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Which scheme provides employment opportunity

to the unemployed youth by providing them

employment oriented skill training?

Choose the most appropriate answer from the

options given below:

(A) Rajasthan Jan Kaushal Vikas Karyakram

(B) Rojgar Aadharit Jan Kaushal Vikas
Karyakram

(C) Rajasthan Jan Kaushal Skill Karyakram

(D) Rojgar Jan Kaushal Skill Karyakram

(E)  Question not attempted

FIF-HT FISHT SUSTTR AT T USTTRAE Shired

SITTEAOT SET Sheh ST T ST Y& el &2

Frmfefia frredt & & et 3ugw S0

(A) TSI S I [TehTE HRIHH

(B) TSR ST S shiwtet forshrer shrishn

(C)  TSTEAT S HivTel et HrishT

(D) USHTR SIF shisTeT et Sl

(E) rgaid 9

In a class of 40 students, 45% are girls. The
average weight of the boys is 48 kg and that of
the girls is 43 kg. What is the average weight

(in kg) of the whole class?

Teh el o 40 Tt 9 @ 459% aefrat 2 dehi
T 3TTEd o 48 TR 3R Tl ot sftad as
43 TormT 21 It et ok 3Tt e (foram ) 22
(A) 4525

(B) 405
(C) 45.75
(D) 488

(E)  Question not attempted / 3174 e
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73  Which National Highway does not pass through | 76 ~ The highest amount of rainfall is received by

the Rajasthan? ) which of the following parts of Rajasthan?
Choose the most appropriate answer from the

options given below: Choose the most appropriate answer from the
(A) National Highway No - 11
(B) National Highway No - 10
(C) National Highway No - 44 (A) Eastern Rajasthan
(D) National Highway No - 23
(E)  Question not attempted

options given below:

(B) Western Rajasthan

T TS TS TSTEAT BT T2l A 27 (C)  Southern Rajasthan

= e R g s %\lﬁ (D) Northern Rajasthan

(A) T ot S - 11 !

(B) TSI TSN WA - 10 (E)  Question not attempted

(C) TSI TSHFT TE&AT - 44 '

D) T T 23 TSTEYT o Shi=-8 9T | SR st ITe eIt 22

(E) rgmita w4 frfaiaa fosredt 7 @ @aifae 3ugw o 91:
74  Which of the following cities in Rajasthan is (A) q'ﬁf TSTEAT (B)  ufarHt T

known as the ‘City of Stepwells’ due to the
prominence of Bawris?

Choose the most appropriate answer from the (E) Sﬂﬂﬁﬁ Iq
options given below:

(A) The City of Udaipur
(B) The City of Bundi 77  In sports and games the Dronacharya Award is
(C) The City of Jaipur
(D) The City of Ajmer
(E)  Question not attempted Choose the most appropriate answer from the
frafafaa & & TS & S-ar e arafet 6
AT o 0T Tt ST ECTeed” HEAT &7
frefafeaa foeredt o @ gatfas 3"73?53?’(?? (A) Players of Olympic Games
(A) IR I (B) sdtw=t

(C) <Rfiusma™ (D) SR TSy

given to:

options given below:

B) Players of Commonwealth Games
(C) FIEIE (D) IR ®) Py
(E) ST« ) (C) Players of Archery
75  Khejarli Andolan for environment conservation (D) To eminent coaches

is associated with which state of India? (E) Ouesti att ted
uestion not attempte
Choose the most appropriate answer from the P

options given below: @FIEEQ’ T o=t R ferm STaT 2:

(A) Gujarat (B) Madhya Pradesh S S i g
(C) Rajasthan (D) Karnataka iA b SAG I %\'ﬁ
(E)  Question not attempted (A) AV Tl o Raerteat s

TR0 ELIOT o foIq <A TR Wsted! el . .

s 3 o o 8 e 20 (B) i et & feretioat 1
Frerferfin fasresit § & wrarifores 3w SO (©) i 3 faerfedi 1

(A) TSUE (B) TWH YR _ :

(C) TSI (D) @AlCH (D) ST SreFen! 1

(E) SFfaia g (E) raid
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78  The amount of Award money for Paralympic | 81 = Which of the following structures is a short form
Games 2024 (Summer and Winter) Silver Medal

of pond, found mostly, in western Rajasthan?
winner in India is:

Choose the most appropriate answer from the Choose the most appropriate answer from the

options given below: options given below:
(A) <1 Crore (B) < 75Lakh (A) Beri
(C) 50 Lakh (D) < 30Lakh '
(E)  Question not attempted (B)  Nadi
AT | AR @t 2024 (e 3R 3ftqehreti) & (C) Khadin
TSI U forTeT o fort ekt Tfer &: ' (D) Lakes
frfaRad foskedt @ & watiere Iug ST '
(A) 7 | Fie B) F 75amg (E)  Question not attempted
©) R s0am@ @) T 30@ma freafafad & & -6t ST areTe %1 Bier 9 8
(E) A o ST STferentere: ufirt s # areft STt 22
79  Who among the following has never been (upto A I 393 W;‘Jﬁ:
September, 2024) the Chief Minister of (A) =i
Rajasthan? (B) ArEr
Ch?ose tbe most appropriate answer from the ©) g
options given below:
(A)  Sachin Pilot (D) i
(B) Ashok Gehlot (E) aaﬁﬁﬁggr
(C) Bhajan Lal Sharma
(D) Bhairon Singh Shekhawat
(E)  Question not attempted 82  Under this project the surplus water of Ravi-Beas
frfaftaa o & = vt (Rrder, 2024 7o) TSea™ is utilized for irrigation in Rajasthan.
Tr N ,\' iﬁ@"ﬁ 3 N - Choose the most appropriate answer from the
B INIECREEE I 'Haii SUg+h ;
(A) ERAUEEE  (B) 3;{@7; Tead ° options given below:
(C) ¥ ot (D) W g v (A) Bisalpur Dam Project
p ]
(E) o ki (B) Panchana Dam Project
80  During the decade of 2001-2011 in Rajasthan, in (C)  Gandhi Sagar Dam Project
which district was the highest growth rate of (D) Sidhmukh Dam Project
population? (E)  Question not attempted

Choose the most appropriate answer from the

options given below: =g qiESET & Siald gdt-sae @ stfafes St
(A) Bikaner (B) Ganganagar TeTE ¥ TE=g o fore Su= foha stmar 21
(C)  Jaisalmer (D)  Barmer frffaa fredt § & gatfie 3uges 3o 9+

(E)  Question not attempted .
2001-201 1 3375 & ToTET 3 forat forer i STt (A)  ferer ater wfeeirsrT

g T FaTfee off? (B) U= SiTer Ul
ot foredt & & waiferds uge 3w T (C)  TiEfraTR et
(A) sl (B) TR .

) SR (D) TR (D) frge e afer

(E) ot e (E) ITaia o
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Which is the only river in Rajasthan which flows
for all twelve months of the year?
Choose the most appropriate answer from the

options given below:

(A) Sabarmati (B) Chambal
(C) Mahi (D) Banganga
(E)  Question not attempted

TSTEAT B -6 TeTs et S o § SE] He aeh
R

e fa T forepedt § & @@ 3UGE IR I
(A) EEOdr (B) &
(C) =t (D) STOET
(E) 3Tl o1
Match List-I with List-II.
List-I List-1T
(Name of Tree / (Utility of Trees/
Wood/Grass) Wood/ Grass)
a. SAGWANTREE 1. Making coal
by burning it
b. SALAR TREE II.  Animal fodder
c. DHOK III. Making tools
of Agriculture
d. SEVAN & IV. Making packaging
DHAMAN boxes
FAT-1 3 | GiT-11 T e shitor)
-1 Tei-11
(Fe/ARI AT (/TR
HTA™) UTH <hT IUITTET)
a. HNEH & I 3 SR HRr
STAT
b. WERIE I 9=
c. % ML Y % ST FAET
d. TEuT IR g IV. kST o fesel s

Choose the most appropriate answer from the

options given below:

e few T fereredt # @ waifere 399w I I

(A) a-ILb-Ic-1IV,d-1
(B) a-II,b-1IV,c-1,d-1I
(©) a-I,b-I,c-1I,d-1V
D) a-IV,b-llc-1,d-1
(E)  Question not attempted / 31':!3?[['\{?‘[ I9q
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Who opened almost 300 schools between 1944 to
1956 in the desert villages of Bikaner?

Choose the most appropriate answer from the
options given below:

(A) Komal Kothari

(B)
©)

Swami Keshwanand

Acharya Tulsi

(D) Kiripal Singh

(E)  Question not attempted

ToRE 1944 § 1956 o off=r sftehTx o (e it o
T 300 e @iet?

ffafad fasheat # @ waifaes Sugw® S0 I
(A) SHARLBH (B) TEH HIEHT

(C) Rt (D) & fw

(E) rgaid o

Who among the following may be called the first
prose writer of Rajasthani literature?

(A) Vijiyadan Detha

(B) Vijay Singh Pathik

(C) Meghraj Mukul

(D)  Shiv Chandra Bhartiya

(E)  Question not attempted

frfefes & & fordr Teteert anfecr w1y T
@ el ST Tehdl &2

(A) foemr B) fowa iz ol
(C) TRNETEA (D) R == wdE
(E) rgaid o

the

achievements of a dynasty or an individual is:

Poetry work which describes great

Choose the most appropriate answer from the

options given below:

(A) Raso (B) Vigat

(C) Prakas (D) Rupak

(E)  Question not attempted

T HAB ST TRt TSR A1 AR T HEH
IqATeat T Ui AT &, FEATd &

frfafad fosreat # @ watfas sagw® SR TH:
(A) TET B) fama

(C) Y™ (D) ®Uh

(E) raid
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One stringed musical instrument that can produce
a wide variety of tunes and melodies is called:-
Choose the most appropriate answer from the
options given below:

(A) Ektara (B) Khartal

(C) Pungi (D) Rawanhattha

(E)  Question not attempted

e, AT AT ST aiTey 3 ST forfaet Srerr ot ¢ 3T
T 3T L ekl 2, HEATaT 2:

frfaRad foskedt # & @afiere Iug ST
(A) THarT (B) Gsdrd

(©) bt (D) [IUIEcAT

(E)  3Tgmild o1

A sum of money amounts to I 8000 after 5 years
and to ¥ 9800 after 8 years at the same rate of

simple interest. The rate of interest per annum is-

FIT GIRT  HTUROT SIS I T X H 5 98
T 8000 qT 8 IS # T 9800 BN SATelT 2] <A hl
Tfden T 2-

(A) 8% B) 10%

©) 12% D) 15%

(E)  Question not attempted / ?ﬂflflﬁ?f Iq

‘X’ lent ¥ 8000 to ‘Y for 2 years and % 6000 to
*Z’ for 4 years on simple interest at the same rate
of interest. ‘X’ received I 2400 in all from both
of them as interest. The rate of interest per annum
is:

TTLROT SATST 2! T QI X 2 T o foIw <Y
< 8000 T IAT & qAT *Z° 3l 4 8T o fATI 6000
FROTAAT 8l X AT H FA T 2400 AN o &9 H TTH

AT 2| SATST hT T T 2-
(A) 5% (B) 6%
©) 7% (D) 8%

(E)  Question not attempted / ﬂ@ﬁﬁﬁ 99
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‘Gram Swaraj Abhiyan’ was undertaken under:

Choose the most appropriate answer from the

options given below:

(A) Sabka Sath, Sabka Vikas

(B) Sabka Sath, Sabka Gaon, Sabka Vikas

(C) Sabka Sath, Sabka Vikas, Mera Gaon,
Mera Desh

(D) Mera Gaon, Mera Desh

(E)  Question not attempted

Frerferfiae et & & ratfores 3uge o0

(A) TThRT |TY, eI foehrd

(B) T |TY, HelehT TTTel, FaThl foehrer

(C) TSI GTY, GelehT forehrd, BT TITd, BT &7

(D) I, BT

(E) 3@ g

The first Sherpa Meetings for G-20 under the
presidency of India was held at:

Choose the most appropriate answer from the
options given below:

(A) Mumbai (B) Jaipur

(C) Surat (D) Udaipur

(E)  Question not attempted

TRA Sl STEAEAT o ST G-20 3 T T TR
I3 el Tall T off?

TrfaRad foskedt 7 § gaifae 3ugw Iut 91:
(A) °sE (B) AR

© ¥ (D) AR

(E) 3 g

Where was the 20th edition of India-USA Joint
Military  exercise  “Yudh  Abhyas-2024’
conducted?

Choose the most appropriate answer from the
options given below:

(A) Gujarat (B) Odisha

(C) Rajasthan (D) Madhya Pradesh
(E)  Question not attempted

TR-STHIHT HIh ST ST T8 STV 2024
T 2081 HERTT FHal SATATSIA foa T2

frmferiaa forshedt 3 @ warffarss 3uge o I:
(A)  TS@ (B) sfem
(C) TSI (D) T RI
(E) rgaid 9
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The word ‘chhe’ indicates the Gujarati influence
on which of the following dialects?

Choose the most appropriate answer from the
options given below:

(A) Dhundari (B) Wagadi

(C) Mewati (D) Bhili

(E)  Question not attempted

TR T - ST T TSI T T 22
frfafead faeredt § & waifaes 3ag® ST I:
A) et B) amd

(C) WaTdt (D) et

(E) i@ yy

Which is the biggest fair of Rajasthan’s tribal
society?

Choose the most appropriate answer from the
options given below:

(A) Kapil Muni Fair (B) Beneshwar Fair
(C) Kaila Devi Fair (D) Shri Mahavirji Fair
(E)  Question not attempted

T[STEAT o STTIEATET GHTST T Gad SIST HedT Shid-9T
22

frfeRaa fospedt @ & wafiere Iug Sa T
(A) HUAFHHAT  (B) SorETHAr

(C) Farddifar (D) o Hereistt der
(E) Srpaiaug

Which fair is held at Bhavgarh Bandhya village
near Jaipur?

Choose the most appropriate answer from the
options given below:

(A) Sheetla Mata Fair

(B) Karni Mata Fair

(C) Kapil Muni Fair

(D) Khalkani Mata Donkey Fair
(E)  Question not attempted

S o ke ATaTE e e  shi-|1 Hell e
27

frfeiad fospedt @ & wafiere Iug ST
(A) Sfrqar rar der

(B)  Shoft ATaT BT

(C) U i Helr

(D) *ff STl HTAT TS Tt

(E) i@ yy
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Identify the characteristic features of the Aravali

region in Rajasthan.

a. The Aravali mountains are also called
Aadaval mountain.

b. The Aravali mountain range is regarded as
one of the world’s oldest mountain ranges.

c. Its height increases from South-west to
North-east.

d. Gurushikhar is the highest peak of the
Aravali ranges.

Choose the most appropriate answer from the

options given below:

(A) (a), (b) and (c) only

(B) (a), (c) and (d) only

(C©)  (a), (b), (c) and (d)

(D) (a), (b) and (d) only

(E)  Question not attempted

TSR # SWEet & i faemaret # geam

Hifsg

a. A 9dd Hl ATSETH YT H e Siar
&

b. WA 9ad H@er fog H A wba
ST WIHT STl 2

c.  TH a3 AWULUEH ¥ ITIH A AR
et 2l

d.  TERTE SREE e i ged S = 2

it faw T forshedt # @ waifere Iug SO I

(A) 3 (a), (b) 3 (c)

(B) % (a), (c) R (d)

(©)  (a), (b), (c) I (d)

(D) e (a), (b) 3T (d)

(E) rgaid 9

Rajasthan is situated in the part of India.

(A) North -Eastern (B) North-Southern
(C) East-Coast (D) North - Western
(E)  Question not attempted
TSN YRd s 9 fera R
(A) T (B) IuX-gferuft
(©) wide (D) Sa-uft
(E) raid
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Which of the following is designated as the Nodal

Agency in Rajasthan to implement the Prime

Minister Formalization of Micro Food Processing

Enterprises (PM-FME) over a period of 5 years

from 2020-21 to 2024-25?

Choose the most appropriate answer from the

options given below:

(A) The Rajasthan State  Agricultural
Marketing Board

(B) The Rajasthan State Administration
Marketing Board

(C) The Rajasthan State Applied Marketing
Board

(D) The Rajasthan State Food Marketing
Board

(E)  Question not attempted

ffafiaa & & ford 2020-21 & 2024-25 Tk 5 a9

6T AT TR GEH @ e SeH 31

ST (T T — T T )" 0 TR T o6 FoTe T

H el UsiH! o F9 | AT foRar w82

FrfcTfiad fospedt § @ waifere 3ug o I

(A) TSR €2 HiY foque a1

(B)  USTEI T2 YRTTEH HIeh{T SIS

(C) TSI T2 UATSE HIh{T SIS

(D) TS €< S HIhIeT a1e

(E) 3Tl o=
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100 Which of the following schemes was launched to

101

integrate skill development in academic colleges?

Choose the most appropriate answer from the

options given below:

(A) Mukhya Mantri Kaushal Vikas Yojana
(MMKVY)

(B) Mukhya Mantri Yuva Kaushal Yojana
(MMYKY)

(C) Mukhya Mantri Yuva Sambal Yojana
(MMYSY)

(D) Mukhya Mantri Kaushal Nirman Yojana
(MMKNY)

(E)  Question not attempted

SeafiTeh it | hINTCT foIshre o1 Tehiehd i o

fore Frerferfern & & e-al Ao 7 1 TS

frfafad faskedt 7 @ waffae sagw® S0 TH:

(A) TEIHH I ferehTer ST (MMK VYY)

(B) TEAwH a1 Szt ASHT (MMYKY)

(C) Tews a1 vt ASHT (MMYSY)

(D) T ST AT AT (MMKNY)

(E) Jaid 9

Food cans are coated with tin and not with zinc
because-

Choose the most appropriate answer from the
options given below:

(A) Tinis an inert metal.

(B)  Zinc has higher melting point than tin.

(C) Zinc is more reactive than tin.

(D) Zinc is less reactive than tin.

(E)  Question not attempted

G % fesat () WS & e R e @ =gt
Bt & FHATfR-
frfaiaa fosredt # @ @aifae 3ugw ot I1:
(A) T MR arg 2
(B) e o1 e, fo <t e stfies grar )
(€) foiep, for @ atferes forameficr 21
(D) S, o7 0 #a foramefiier )
(E) raid
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102  Which of the following is not a metal? 105 Match List-I with List-II:
Choose the most appropriate answer from the

. . . List-1 List-11
options given below:
(A)  Sodium (B)  Phosphorus a. Depositing alayer 1.  Melting
(C) Magnesium (D) Mercury
(E)  Question not attempted of zinc on iron
ﬁﬁaﬁq%m\-)rqﬁ%‘? b. Changing a solid into II. Evaporation
ffeiaa fashedl & @ Taifae 3ugw ST IH: ' ‘
o iquid on heatin
(A) wifeam (B) HITHRE liquid on heating
(C) AHifsrm (D)  URT (W) , , ,
c. anging a gas into . Condensation
(E) > afa v Changing a g t IIT. Condensat
D

103 Choose the incorrect option about the image liquid on cooling

formed by a plane mirror. The image is: d. Changing a liquid IV. Galvanisation
Choose the most appropriate answer from the
options given below: into gas on heating
(A) Erect and laterally inverted =t L Fr T & AR
(B) Real & o S
(C) Of'the same size as the object gjﬁ I g@"]‘ I
(D) Virtual .
(E)  Question not attempted a. e o foieh (%) L o
A UV gRT S aTel wfdfer & 9§ el o e T
Tt =1 == <RifsTg) wferferest 2ar 2-
frfafaa faeredt o § @aifas 3ug® ST IA: b. T S T 3 A 1. STsdieRtor
(A) ©iar T urdd: 3T (Schiva) .
59 H FaHT
(B) arEdfae
(C) % o SATHRFH c. OSTHH T A L. o
(D) STt ‘
(B) wraf@ s 5 | srEerT

d. TH FH WIS H IV. Ieecad
104 Who in Rajasthan is remembered as an icon of

bravery, self-respect and sacrifice? g o ST

Choose the most appropriate answer from the

options given below: Choose the most appropriate answer from the

(A)  Amar Singh Rathore options given below:
(B) Maharaja Gaj Singh o
(C) Rana Sanga et few T oot # @ @it 3ugw S T

(D) Vijay Singh Rathore

A) a-ML,b-ILc-IV,d-1
(E)  Question not attempted ®)

TSreer 4 forer eTedl, STen TR SR A B) a-ILb-MLc-1,d-1V

Tefleh o &9 T ATe AT ST 82

foreferfaa foeredl 8 & affere suge ST (© a-IV,b-Le-ILd-MI

(A) sPrfdETdls (B) weRm TS fdE (D) a-1V,b-Lc-MLd-1II

(C) TOmEET (D) T R et

(E) 34‘:@'&?[ e (E)  Question not attempted / 3133?!'&?[ 99
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The fuel we use in the kitchen exists as a liquid.
When it comes out from the cylinder it becomes
a gas (Change - A) then it burns (Change - B).
The following statements pertain to these
changes.

Choose the most appropriate answer from the
options given below:

(A) Process - A (Change-A) is a chemical

change.

(B) Process - B (Change-B) is a chemical
change.

(C) Both Processes A and B are chemical
changes

(D) None of the processes is a chemical
change.

(E)  Question not attempted

TS § SR BN AT $4 5 e H 2l 8] el

7% ficiet | STt 311 ST § Y I€ 9 S 0 @

(TR - A) 9 I8 I8 STeTdT & (FHE - B)| A

e &o 3 ufadH & gafeaa 2

frfeRad fospedt @ & wafiere Iug Sa

(A) shAT - A (TG - A) Teh TETT Tiad
K

(B) WshaT - B (YREdH - B) Tk TET Tiad
2l

(C) ST IfshaTE A 3R B TEmIfe giEds 2

(D) IETAGRATSAT A TR B H ¥ &I5 of TaRIH

RICREE IR
(E) i@ yy
Which city did Maharaja Surajmal set up in
Rajasthan?
Choose the most appropriate answer from the
options given below:
(A) Udaipur (B) Jodhpur
(C) Mewar (D) Bharatpur

(E)  Question not attempted
HETSTT IS  TSTEAT H ShIH-8T e ST o7

frfafead faeredt # & @aifas Iag® ST IA:
(A) 3R (B) S¥q

(©) uarE (D) AT

(E) a9
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Sagarmal Gopa a democrat and freedom fighter
belonged to which state?

(A) Punjab (B) Rajasthan

(C) Uttar Pradesh (D) Delhi

(E)  Question not attempted

TS YT Ush ArhTaTdl ST ST =Tt forer
TSI Y Gafera o

INERSIE (B) TSEIH
(C) ST (D) Tt
(E) It g

Which of the following states were merged in the
first stage of Integration of the present Rajasthan?
Choose the most appropriate answer from the
options given below:

(A)  Alwar, Bharatpur, Dholpur, Karauli

(B) Bikaner, Jaipur, Jaisalmer

(C) Banswara, Bundi, Dungarpur

(D) Pratapgarh, Shahpura, Tonk

(E)  Question not attempted

FAHT USTEAT o Teh[ehT0T oh T2 =0T § A fetriad
T 9 forT T2t ot et fora T em?

Fretferfian bt 8 & waifore 37w a0
(A) IR, WA, GG, FHeAt

(B) iR, ST, S

(C) SrgETeT, ST, $HIT

(D) ATHTE, AR, 2ih

(E) aid 9

What is the HCF of two numbers if their LCM is
36 times their HCF and the product of the
numbers is 2304?

3 AT T HEAH FHIAA T 8, A IR
A FHITA 3o Hew QHTqadeh b 36 T &

AT 7RI U 2304 22
(A) 6 B) 8
©) 9 (D) 10

(E)  Question not attempted / 3 )
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Ankit bought 4 shirts at I 550 each and 2 trousers
at I 820 each, what is the average cost of the

items?

3ferd 1 4 FHist T 550 T shl & AT 2 TaeT
(%) T 820 I T T H Wi 37 Tl 7 37

T T Y

(A) 690
B) T 665
(C) 640
(D) %620

(E)  Question not attempted / ﬂ@ﬁﬁﬁ Iq

Which of the following is not a Law of
Inheritance?

Choose the most appropriate answer from the
options given below:

(A) Law of Dominance

(B) Law of Aberration

(C) Law of Independent Assortment

(D) Law of Segregation

(E)  Question not attempted

frfefad = & -1 Fmi 6l Uk fom = 22
freaferfiaa foreredt # & @affere 39w St I
(A)  STferaT st foem

(B) T (ufergr) =t foemr

(C)  Tarc JTqee 1 fom

(D) TR T W

(E) rgaid 9

Who is known as the Father of Genetics?
Choose the most appropriate answer from the
options given below:

(A) G.J.Mendel (B) Bateson

(C) Charles Darwin (D) Hugo de vries
(E)  Question not attempted
HATTATRTEhT F e fehre sheT ST 22

frfafead faeredt @ & waifaes 3ag® ST
(A) StSdsd  (B) W&

(C) =rderfdr (D) e

(E) 3rgaid 94
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The simple interest on a sum of money is % of
the sum and the number of years is equal to the

rate percent per annum. The rate per annum is:

WW@WWWWH\ET@TW%%
ST =TS il ATNeh G, T chl AT oh S | ST
T 3T &

(A) 2%% (B) 3%%

© 33% o 2%%
(E)  Question not attempted / 3774 e

In what time, < 8000 will amount to I 9261 at
20% per annum compound interest when the
interest is compounded quarterly?

(A) 3 Years (B) 1% Years

(©) 1Year (D) 9 Months

(E)  Question not attempted

Tora Tmr # T 8000 i TTRT =rshafeg, =TS W 20%
e W H X 9261 B S, Al ST ST
Hefore a8

(A) 37 ® 1
() 139 (D) 9HRE
(E) rgaid o

A certain sum becomes 8 times of itself in 18
years on compound interest. In how many years

will it become double of itself?

I TR <Thalfeg, TS W 18 ISt # Tt ot § T &

STt 1 978 fop it & Tt ot G & st 2
(A) 3 B) 6
© 7 (D) 8

(E)  Question not attempted / 3 )
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117 Sahitya Akademi Award winner Rajasthan Poetry | 120 According to the Census of 2011 the lowest sex

‘Mugtee’ is authored by: ratio is found in which district of Rajasthan?
Choose the most appropriate answer from the Choose the most appropriate answer from the
options given below:

(A) Khalid Hussain

(B) Arjun Chawla

options given below:
(A) Rajsamand (B) Dholpur

(C) Meethesh Nirmohi ()  Dungarpur (D) Nagaur

(D) Chandrabhan Khayal (E)  Question not attempted

(E)  Question not attempted 2011 T SFRTIAT TR TSI CRACT AR
T o A frffiad et 3 & waifires Suge 390 T:
FrfcTfiad foshedt § @ waiferes 3ug o I (A) T B) e

(A) TIEgET  (B) 3N =mdel © TRE D) TR

(C) wewfmi@ (D) IsMEEI e

(E) raid 9 ®)

118 Identify the person from Rajasthan, awarded the 121 The lowest populated district of Rajasthan
Sarvottam Jeevan Raksha Padak (Posthumously)
by the President of India in 2021.

Choose the most appropriate answer from the

according to the Census of 2011 is:

Choose the most appropriate answer from the

options given below: options given below:

(A) Jatin Kumar (B) Ramavtar Godara (A) Dholpur (B)  Sirohi

(C) GyanChand (D) Anil Kumar (C) Jaisalmer (D) Bundi

(E)  Question not at‘Fempted (E)  Question not attempted

39 At T e LS AT H GRE & SR 2011 i SFTURT o SR TTETH 1 T hA
%jzozlﬁm%mmﬂwaﬁmw P
AR L s AR Freferfin et 4 matfores T 3
frefetRad foshedl # & @aiferes 3ug Sat o: ! 3
(A) SRRFAR  (B) THEARTED (A) R () fel

(€) IH==R (D) e FAX (C) e (D) &

(E) 3Tl o1 (E) raid o

119 Who was the 12th President of India?

122 According to the 2011 Census the highest density
Choose the most appropriate answer from the

. . of population in Rajasthan was in which district?
options given below:

(A)  Smt. Droupadi Murmu Choose the most appropriate answer from the

(B)  Smt. Pratibha Devisingh Patil options given below:

(C) Dr. A.P.J Abdul Kalam (A)  Jaipur (B)  Bharatpur

(D)  Shri Pranab Mukherjee (C) Alwar (D) Dausa

(E)  Question not attempted (E)  Question not attempted

IR 129 TG A 47 _ 2011 3T SFAVMT 3 SFER TSEH % ot ey 5
mﬁﬁjﬁﬁwﬁwwwgﬁ: T SHEEAT T A2

(B) st e Sefifere TR " ¥ A 9w ST
(C) 1T . . 375 hel (A)  SEII (B) sy

(D) oft vorer st ° (C) TAR (D) 3T

(E) SRy (B) oTTafd s
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123 According to the Census of 2011, which of the | 125 Recycling can be done for:

following districts of Rajasthan was the second a. Metal cans
largest populated district? b. Medical waste
Choose the most appropriate answer from the c. Radioactive waste
options given below: d. Plastic bottles
(A) Bikaner (B) Jodhpur Choose the most appropriate answer from the
(C) Jaipur (D) Alwar options given below:
(E)  Question not attempted (A) (a)and (b) only
STUAT 201 1 % STTER 1 H & TSR o1 ShiH-81 (B) (b) and (c) only
ESIECUCIBEREEENISIEICIESIRIN (C) (a)and (d) only
frfeRad foskedt @ & @afiere Iug ST (D) (c) and (d) only
(A) EiEaEry (B) Eﬁﬂg'( (E)  Question not attempted
(C) SAR (D) 3AX QEIRUT FoRaT ST HehalT 2
(E) I w1 a.  oTq % fSsall
b.  Tafercdr sTafire 1
124 Which of the following statements is correct in c. At e
the context of the location of Rajasthan on a d. AT Sl e o1
World Map? et fow e foeredt & @ watfaes suges s T4l
Choose the most appropriate answer from the (A) EES) (a) 3R (b)
options given below: (B) FacT (b) R (©)
(A) Rajasthan is located in the southern ©) Fact (a) 3R (d)
hemisphere. (D) dd (c) 3 (d)
(B) The tropic of cancer passes through the (E) 313?1'&?[ BE)
south part of Rajasthan.
(C) The tropic of cancer passes through the | 126 The microorganism that causes Rabies is a-
middle of Rajasthan. Choose the most appropriate answer from the
(D) The equator passes through the northern options given below:
part of Rajasthan. (A) Bacterium
(E)  Question not attempted (B) Virus
frtaRaa & @ sH-a1 e TStea™ i fag gt (C) Plasmodium
o feafa & el o ot &2 (D) Fungi
frafefad faseat o & waifaes Wﬁ'{ﬂ% (E)  Question not attempted
(A)  TSTEAT Sfeoft Mg # feera 2 ftr 3 for STarft gawstia & -
(B) o e Tt 35 Aty o & e el Freiferfia bt 8 & waifores 37w o0
H (A) Sframy
(C) e T TISTET o HE 91T & BIehd o 2 B)  fommoy
(D) TTE T TSTEAT o ST | 8 Bleh ot (C) vATSHITETH
H (D)
(E) 3Tl o= (E) raid
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Which of the following materials cannot be used
for making compost/manure?

Choose the most appropriate answer from the
options given below:

(A)
(B)
©
(D)
(E)  Question not attempted

frefafaa & & wiF-ar yard FrRe/@E s H |
ERINERRERIIRSE IV

frfeRad foskedt @ & wafiere Iug ST
(A) oAl 3T Gfesrr o foeh

(B) TR STufyrs

(C) ¥< gL EE e

(D) dd IR

(E) Srpaiaug

Match List-I with List-II.
List-I

a.

Fruit and vegetables peels
Excreta-dung
Rotten food materials

Oil and paint

List-II

Gobar gas plant I.  Iron scrape and

broken plastic

items

II. Solid waste

II. Cow and buffalo
dung

IV. Earthworm

b. Vermicomposting
c. Land fill

d. Recycling

HAT-1 3 | G=i-11 T e shifr)

Tt -1

a. TS T I e o e AR
T AT T FTHTH

b. aHfeRIEST 1L 39 S

c. [ WOT (fefhen) I T 3T ¥ T TTIeR

d. YR IV. a3

Choose the most appropriate answer from the

options given below:

et faw T forshedt # & waifereh 39 S I

(A) a-ILb-IV,c-IId-1
(B) a-NILb-1V,c-I,d-1
(C) a-IILb-M,c-I,d-1V
(D) a-Lb-MLc-I,d-1IV
(E)  Question not attempted / 31':!3?’['\{?[ Iq
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The Amendment Act which ceased the reservation
of seats for Anglo-Indians in the Lok Sabha and
Legislative Assemblies:

Choose the most appropriate answer from the

options given below:

(A) 1041 Amendment Act
B) 105t Amendment Act
©) 106" Amendment Act
D) 107th Amendment Act
(E)  Question not attempted

I8 gnud Afafm fSes 9gq e 3R
foramaareTt O Gl sfead & for et o1 s
HHTH oL T TR

frfafad fosreat # @ watfae sag® SR T
(A) 104 aT Gme Tty

(B) 105 I wye fefrem

(C) 106 aT Temer rferf=m

(D) 107 af wme AfefrEy

(E) rgaid o

Who among the following is the recipient of the
Dadasaheb Phalke Award 2024?

Choose the most appropriate answer from the
options given below:

(A) Rekha

(B) Rajnikanth

(C)  Amitabh Bachchan

(D) Mithun Chakraborty

(E)  Question not attempted

freferiae o & ford arer aree wiceh TR 2024 ¥
T fopam T 27

i fow e forehedt & & wa@ SUg ST

(A) @

(B) TWHIekid

(C) AT s=a

(D) T wshadt

(E) Iaiayyd

D
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Which of the following is not a Rabi crop in
northern India?
Choose the most appropriate answer from the

options given below:

(A) Wheat

(B) Maize

(C) Mustard

(D) Gram

(E)  Question not attempted

7 8 - I 9Ra | i o e T 22
e e i & aratfores uge o 5
(A) T

(B)  HeRT

(C)

(D) =

(E) i@ yy

The first phase of Jaipur Metro Rail Project i.e
Phase - 1A started, was from:
Choose the most appropriate answer from the

options given below:

(A) Mansarovar to Badi Choupar

(B) Chandpole to Badi Choupar

(C) Mansarovar to Chandpole

(D) Mansarovar to Jaipur

(E)  Question not attempted

ST AT Yt TIISHT 3Bl T2 =0T, /0T - 1A &
BT IT:-

Frerferfae fasvesit § & Frarifores suge SO0
(A)  FHEUR Y ae g

(B) wiediel & w1l wlug

(C) UMEIE ¥ Siguiet

(D) AR & SR

(E) Srfaiayy
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In the winter season rainfall occurs in some parts
of Rajasthan due to the Mediterranean cyclones,
which is called

Choose the most appropriate answer from the

options given below:

(A) The Blossom Showers

(B) Kall Vaishak

(C) The Mango Showers

(D) Mavath

(E)  Question not attempted

30T /G H TSI & TS 9T H AT
STshaTdl & B STl 9T T ST 27
frfafad fasheat # @ waifaes Iugw® S0 I
(A) FAIHIEBR  (B) HA-SRTE

(C) oyt (D) &3

(E) rgaid g

Which is the biggest saline water lake of
Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Didwana (B) Pachpadra

(C) Sambhar (D) Lunkaransar
(E)  Question not attempted

TSTEIT T FoT8 St W UTHT 3l 3t shi-eff 22
frfafad faeheat # @ waifas Iugw S0 I
(A) Sreamr (B) 9=HsT

(C) 9™ (D) TIOTShITER

(E) rgaid o

Which river of Rajasthan is connected to the
Vedic and Puranic period?

Choose the most appropriate answer from the
options given below:

(A) Saraswati (B) Mahi
(C) Banganga (D) Luni
(E)  Question not attempted

TSTET 3h1 ShI-HT FaT Sfceh Tal T i § Heiferd
2

frefeTRad fospedt o & aafiere Iag ST
(A) T (B) &l
(C)  SmoRrm (D) ot
(E) raid
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136 The Construction of the Ganga Mandir of | 138 Match List-I with List-IL.

Bharatpur was started by Maharaja Balwant List-I (Instruments) List-II (Features)
) ) i a. Ektara L This was beaten
Singh in 1845 and the construction work ] )
with two thick

continued for wooden sticks.

Choose the most appropriate answer from the b. Algoja II.  Main instrument of
Bhopon
c. Ravanhattha  III.  Meerabai used to

options given below:

(A) 10 Years (B) 20 Years o
play this instrument
(C) 60 Years (D) 90 Years d.  Nagada IV.  Flute like
(E)  Question not attempted instrument
WA o T A w1 i wewST soEa fiw efl-1 31 -1 e ferer
) : Teft-1 (ST -1 (fervraTy
T 1845 § w fear T o1 She i A ) 0 :
a.  THAN I 39! a1 A1 Aehel
S L % ST 9 IS
frfafaa fasreat @ & aaifas 3ug T TH: ST Rl
(A) 109 d® (B) 2099 dH b. TS IL T T o &
O e c.  TaEe . = lﬂtrené
ERIRIEGIRI)
(E)  Aguitsa d. e V. S S T
Choose the most appropriate answer from the
137 Which type of turban is worn by the men in options given below:
e few e ferehedt # & warfferes Iuges SO :

Rajasthan on the occasion of marriages?
(A) a-Lb-I,c-1I,d-IV

B) a-ILb-IV,c-I,d-1II
options given below: (C) a-IV,b-MLc-1,d-1I
(A) Lahariya (D) a-IlILb-IV,c-1I,d-1
Question not attempted / M@ﬁﬁﬁ Iq

Choose the most appropriate answer from the

(B) Madeel (E)

(©)  Antiwali 139 In cattle digestion of cellulose occurs in-

(D)  Mothda Choose the most appropriate answer from the
(E)  Question not attempted options given below:
TR 3 o o STt T e ford e sht qiret (A)  Oesophagus  (B) ~Rumen
‘ ” ‘ (C) Small intestine (D) Large intestine

T 2 (E)  Question not attempted
frfaRaa foskeat @ & @atiere 3ug ST Gt  SreTei T B S
(A) oT&far (B) #Hd frfaiaa foeredt 7 @ waifae 3ugw u 91:
©) siiarch (D) T (A) ﬁﬁ. . ®) ?ﬁ. 5

3 © STd D) ST AT
E) o (E) It g4
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Cud is-

Choose the most appropriate answer from the
options given below:

(A) Partially digested food in cattle

(B) Fully digested food in herbivores

(C) Partially digested food in carnivores
(D) Fully digested food in carnivores

(E)  Question not attempted

I (F2) B-

frfeiad fospedt 4 & waffere 3ug ST
(A) TR & ariferes & W e

(B)  STTHTETIGAT H qUF UTferd ISk

(C) TETETRET | 3Tif¥Tes &9 & rferd s
(D) HiETETET H qUf UTferd IS

(E) rgaid 9

A shopkeeper sold an item for I 1188 and suffered
a loss of 10%. At what price should he have sold
the item to gain 20% profit?

T THMER Tl aeq 1 T 1188 # s=rar & 3R
10% aﬁ%ﬁmél 20% ATH ITH & o fIg 39

TET T I R TR T ST AR
(A) T 1567 B) 1657
(C) T 1584 (D) T 1675

(E)  Question not attempted / 31':!)?11:{?[ Iq

Rohan buys a wrist watch at % of its marked
price and sells it to his friend at price which is 8%
more than its marked price, his profit percentage
is:

e U e T iR U & Wi
I 3T o a7 ford o & 8% SATeh X o< ot
B 3TRT AT wfaeTd -

(A) 28% B) 30%

©) 35% (D) 32%

(E)  Question not attempted / \’ﬂaﬂ'ﬁﬁ Iq

The cost price of an article is % of its selling
price. The profit percentage in this transaction is:

Waﬁwmupmwnﬁsﬁr%%w

AT AT o gferd 2-
(A)  15% (B) 20%
(C) 24% D) 25%

(E)  Question not attempted / \’ﬂflflﬁ?f Iq
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The city in which the kite festival is celebrated in

Rajasthan, on 14th January the day of Makar
Sankranti, is:

Choose the most appropriate answer from the
options given below:

(A) Ajmer (B) Udaipur

(C) Bikaner (D) Jaipur

(E)  Question not attempted

TSI | 14 SHa, Hohd Gohife o fa 9o Halead
forer STa o wHT SiTaT 22

frfafad fosredt 7 @ watfae sag® S0 TH:
(A) IR (B) 3T

(C) e (D) AR

(E) rgaid 9

Ministry of Jal Shakti has taken up the “Jal Shakti
Abhiyan” with the theme “Catch the rain — where
it falls when it falls”. Which of the following are
major intervention of the campaign?

a. Water conservation and Rainwater
harvesting

b. Renovation of traditional and other water
bodies/tanks

c. Reuse and Recharge of bore-wells

d. Watershed development

e. Intensive afforestation

Choose the most appropriate answer from the
options given below:

(A) (a), (b) and (c) only

(B) (b, (c) and (d) only

(©)  (b), (c), (d) and (e) only

D) (), (b), (c), (d) and (e)

(E)  Question not attempted

STeT Sfeh WATS 3 “STet Wik A T IrEeTa
ot T — et e i, 1 7 iR ofte o6 A
EIR

FrfcTRad & & -8 ST shl T TeareerdT &7
a. ST EREAT ST At St S

b. UNufek R I S fwmEi / di

=ﬂ% fou U fopeai & & walfere 3ugw I A
== hifST:

(A) %ad (a), (b) 3 (c)

(B) e (b), (c) 3N (d)

(C) A (b), (¢), (d) 3N (e)

(D)  (a), (b), (¢), (d) 3R (e)

(E) IFaiayy

D
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Which of the following Reactor Type is currently
operating in Nuclear Power Plants of India
situated in Rajasthan?

T 5 T 3ot e & Treree # fere
o o 4 O forer e o o] feae 22

Choose the most appropriate answer from the
options given below:

frfeiad fospedt § & waffere 3ug ST
(A) CANDU (B) BWR

(C) IPHWRS590 (D) VVER 1000

(E)  Question not attempted / ﬂaﬂﬁﬁ Iq

“Nilagai” is a species of-
Choose the most appropriate answer from the

options given below:

(A) Cow (B) Deer

(C) Horse (D) Buffalo

(E)  Question not attempted

frfafiaa faereat o & @aifas 3ug ST IA:
(A) T (B) few#hr

(C) =S D) HSaHr

(E) Igaid 9=

Deforestation is harmful to us because-
Choose the most appropriate answer from the
options given below:

(A) It increases soil erosion.

(B) It decreases soil erosion.

(C) It increases rainfall.

(D) Itincreases soil fertility.

(E)  Question not attempted

frfeRad fospedt @ & wafiere Iug ST
(A) IS ST - UG I 2l

(B) I T - UG =TT 2

(C) Jgau ¥ gfg Tl

(D)  I% YaT sl ISTIFH ST 2

(E) 3Tl o=
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Which of the following statements are correct
regarding the Keoladeo National Park?

a It is located in Pratapgarh city.

b. It is the habitat for many birds.

c. Itis famous for conservation of the leopard.
d. Migratory birds come here in specific
seasons.

Choose the most appropriate answer from the
options given below:

(A) (a), (b) and (c) only

(B) (b), (c) and (d) only

(C) (b)and (d) only

(D) (a), (b) and (d) only

(E)  Question not attempted

AT TS &M o IR H Ffaiad § 9 -4

AT G &2

a. U8 JYATIIE el § L 2

b. T I UTTAT T ATH T 2

c.  FETAGY (CIUTE) F wear  fore vl 21

d. el foe segel § et vaft yam & fog
3T |

e foq e forenedt & @ warifere 3ug S I:

(A) e (a), (b) 3 (c)
(B) e (b), (¢) 3N (d)
(C) e (b) 3R (d)
(D) 3 (a), (b) 3T (d)
(E) I g

Which of the following is not a fresh water fish?
Choose the most appropriate answer from the
options given below:

(A) Catla (B) Rohu

(C) Hilsa (D) Common Carp

(E)  Question not attempted
Fferfad 5 & shiF-H vt sTeavi S i et
TE 82

frfafad fosredt # @ watfae 3agw® SR T
(A) el (B) TE
(C) feemr (D) T HY
(E) rgaid 9
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SPACE FOR ROUGH WORK / T% &/ o feTq T

IR Ak | 2 Wi & - et i 3 feefter s, odverm wmnfe o ot sher Ste | e wlieeff 39t uetens st a1 giaar
ofteren o ETo, WSl TRt fater Wikt T ST el o | SeTeh ST ITX T5eh ohl et NTd T 319 ITd ST 3R, Teeftar
ST 3l gt T & e ATEH 8 HIS L QI qeh STorT o wieret ot | | ovemeff factar i ot o7ow amr &
SR |
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